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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 541 67.63 | FnLS | 000 ~ 541|197 9.98 znLs 1.00 | .00 ~ 6.60 67.53 | =N | 5,00 ~ 6.60)]1.97 9.98
2 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 621 77.96 | Fhs | 0oo ~ 000)1.72 8.69 znLs 1.00 | .00 ~ 7.20 77.96 | =nLSN 500 ~ 720172 8.69
3 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.00 75.15 | ThS | 000 ~ 600 1.92 9.71 znLst 1.00 | .00 ~ 7.30 75.15 | =nLS | 6.00 ~ 730 1.92 971
4 100kN/mM%#B% % — -~ - —|3mZzEZB]| — ~ — — — | 100kN/mMi%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 6.09 76.32 | TN | 000 ~ 6.09| 1.83 9.26 znLs 1.00 | .00 ~ 7.10 76.32 | =N |6.00 ~ 710|183 9.26
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znLs 1.00 | 0.00 ~ 5.47 68.32 | =hS | 000 ~ 000 1.65 8.35 znLs 1.00 | .00 ~ 6.10 68.32 | =N |6.00 ~ 610 1.65 8356
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
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100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh s ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
zh st ~ zhst ~ zh st ~ zhst ~
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